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1

Home! Sweet Homestay! 7%

V= 7 reasond} -2 oJu|2 2421 Fof] O3, thE oJu|2 221 Zof| X3 sHA| 1.,

-

St Mmm. We must wear slippers in the school.

Ronnie: Really? Why?

Sl&l: We should change into slippers before entering the school for sanitary

reasons.

(1) Can you give me a good reason for this? ( )
(2) We have reason and emotion. ( )

(3) But it is not the only reason. ( )

of=rQl oA e s Sl AT Al
TS YoI= 1A A HAlL,

shalol PelE Gy} o] L vl QFs) HAL,
@ SOl MAHL] o + @ hallway

@ A= AIZF » + © cafeteria

O HF - * ©gym

@ =z . + ® homeroom teacher
G DAIAL . + © recess
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